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SSC GD Constable Exam. Practice Set

1.  (a) “þ!vþüê ²Ìîyöì£îû îÄî£y!îû„þ ~„þ„þ xÄy!Á™ëûyîû îy „%þœÁº/ö¢.Ð
“þ!vþüê ²Ìîyöì£îû ¢)e!Ýþ £œ I = V/R öë…yöì̃ I = “þ!vþüê
²Ìîy£– V = ö¦þyöìÎÝþ‹– R = þ™”yöìíÅîû öîûy•Ð

2.  (c) Ÿöì·îû öî† ¢îÅy!•„þ „þ!àþöì̃ Ð „þ!àþöì̃  Ÿöì·îû öî† 6000 m/s.

3.  (c) ¢‚!î•yöì̃ îû 324éôé329 •yîûyëû !˜îÅy‰þ˜ ç !˜îÅy‰þ˜ „þ!›Ÿ˜
¢Á™öì„Åþ xyöìœy!‰þ“þ £öìëûöìŠéÐ

4.  (c) ¢‚!î•yöì̃ îû 112 ˜‚ •yîûyëû ö„þw#ëû îyöì‹Ýþ !˜öìëû xyöìœy‰þ˜y
„þîûy £ëûÐ

5.  (d) 86“þ› ¢‚!î•y˜ ¢‚öìŸy•˜!Ýþ !ŸÇþyîû x!•„þyöìîûîû ¢yöìí
¢Á™!„Åþ“þÐ ò21éô~ó •yîûyëû 6éôé14 îŠéîû îëû!¢ ¢›hßþ !ŸÖöì”îû
xyî!ŸÄ„þ !ŸÇþyîû x!•„þyîû î!’Å“þ îûöìëûöìŠéÐ

6.  (c) H
2
SO

4
 ö„þ xöìëûœ xšþ !¦þ!ÝþÆëûyœ îœy £ëûÐ ¢yœ!šþvþz!îû„þ

xÄy!¢vþöì„þ xöìÝþyöì›yîy£zœ îÄyÝþy!îû ÷“þ!îû „þîûöì“þ ~î‚
öþ™öìÝþÆy!œëûy› þ™!îûöìŸy•öì̃  îÄî£*“þ £ëûÐ

7.  (d) ˜y›”yšþy ˜ÄyŸ˜yœ þ™y„Åþ xîû&’y‰þœ ²Ìöì”öìŸ xî!ßþi“þÐ xîû&’y‰þœ
²Ìöì”öìŸîû x˜Äy˜Ä ˜ÄyŸ˜yœ þ™y„Åþ=!œ £œéôô ö›ï!œ‚ ˜ÄyŸ˜yœ
þ™y„Åþ ~î‚ ˜yöì›!îû ˜ÄyŸ˜yœ þ™y„ÅþÐ

8.  (a) ¦þyîûöì“þîû ö„þîûœ îûyöì‹Ä ²Ìí› ”!Çþ’éôéþ™!Øþ› ö›ï¢%!› îyëû%
²ÌöìîŸ „þöìîûÐ ‹%̃  ›yöì¢îû ²Ìí› ¢®yöì£ ö„þîûœ îûyöì‹Ä î,!ÜTþ™y“þ
¢‚‡!Ýþ“þ £ëûÐ

9.  (b) þ™‰þy !vþöì›îû ‡˜c ‹œ xöìþ™Çþy „þ› £çëûyëû þ™‰þy !vþ› ‹öìœ
ö¦þöì¢ íyöì„þÐ

10. (a) !îÖkþ ‹öìœîû PH £œ 7.1Ð îûöì_«îû PH £œ 7.35-7.45Ð
ö‰þyöì…îû ‹öìœîû PH £œ 6.5-7.1.

11. (a) Ÿ!_«îû SI ~„þ„þ £œ !„þöìœy!›Ýþyîûéôé‡ ù̂ÝþyÐ

12. (c) ‹y“þ#ëû vþz§¬ëû̃  þ™!îû¡ì” †!àþ“þ £ëû 6 xy†ÞÝþ– 1952 ¢yöìœÐ
‹y“þ#ëû vþz§¬ëû̃  þ™!îû¡ìöì”îû ²Ìí› ¢¦þy xyöìëûy!‹“þ £ëû þ™![þ“þ
‹ç£îûœyœ ö˜öì£îû&îû ¢¦þyþ™!“þöìcÐ

13. (b) !m“þ#ëû þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y ²ÌŸyhsþ‰þw ›£œy˜î#Ÿ ›öìvþöìœîû
x˜%„þîûöì’ ÷“þ!îû £öìëû!ŠéœÐ !m“þ#ëû þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yîû
îû*þ™öìîû…y ÷“þ!îû „þöìîû̃ ²Ì…Äy“þ þ™!îû¢‚…Äy˜!î” vþƒ ²ÌŸyhsþ ‰þw
›£œy˜î#ŸÐ

14. (c) ›%oyîûyÇþ¢ ˜yÝþöì„þîû îû‰þ!ëû“þy !îŸy…”_Ð !îŸy…”_ ¢‚ßþ,ñ“þ
¦þy¡ìyëû îû!‰þ“þÐ ~!Ýþ ‰þw=® ö›ïöìëÅîû „þy!£˜# xîœÁºöì˜
îû!‰þ“þÐ

15. (c) ¦þyîû“þ ~„þ!Ýþ ¢yîÅöì¦þï› †’“þy!sþf„þ ²Ì‹y“þsþf îöìœ ö‡y!¡ì“þ
£ëû 1947 ¢yöìœîû 26 ‹y˜%ëûy!îûÐ

16. (a) ¦þyîû“þ#ëû †’þ™!îû¡ìöì”îû ¢¦þyþ™!“þ £öìœ˜ îûyöì‹w²Ì¢y”Ð
îûyöì‹w ²Ì¢y” £öìœ˜ ßþºy•#˜ ¦þyîûöì“þîû ²Ìí› îûyÜTÉþ™!“þÐ !“þ!˜
1952 öíöì„þ 1962 ¢yœ þ™ëÅhsþ ¦þyîûöì“þîû îûyÜTÉþ™!“þ þ™öì”
xy¢#˜ !Šéöìœ˜Ð

17. (b) xy@ùÌy Ÿ£îû!Ýþ !¢„þy¨îû öœy!” ÷“þ!îû „þöìîû!Šéöìœ˜Ð !¢„þy¨îû
öœy!” 1458 !…ÊÞÝþyöì· ‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜ ~î‚ 1517
!…ÊÞÝþyöì· ²Ìëûy“þ £öìëû!Šéöìœ˜Ð

18. (a) ¢Á±!“þ !¢vþ!îóéôéîû ö‰þëûyîû›Äy˜ ~î‚ !vþöìîûQîû !˜ë%_« £öìœ˜
›öì̃ y‹ !›_œÐ !“þ!˜ ~£z þ™öì” !˜ë%_« £çëûyîû þ™)öìîÅ IFCI
!œ!›öìÝþöìvþîû ~›!vþ ~î‚ !¢£zç !£¢yöìî „þ›Åîû“þ !Šéöìœ˜Ð
!¢vþ!î ²Ì!“þ!Ûþ“þ £öìëû!Šéœ 1990 ¢yöìœÐ

19. (a) 1 xy†ÞÝþ UPSCéôéîû ö‰þëûyîûþ™y¢Å̃  !£¢yöìî !˜ë%_« £öìœ˜
²Ì#!“þ ¢%”y˜Ð !“þ!˜ 1983 ¢yöìœîû îÄyöì‰þîû xõÉþ²Ìöì”Ÿ „þÄyvþyöìîûîû
xy£z~~¢ x!šþ¢yîûÐ

20. (b) £z!uþëûy ö›yîy£zœ „þ‚öì@ùÌ¢ 2024éôé~îû !í› £œéôôôé ‘The
Future is Now’.

21. (c) •!îû– þ™)öìîÅ îyý !Šéœ = 100 ~„þ„þ
öÇþešþœ = (100)2 = 10000 î†Å ~„þ„þ
î“Åþ›yöì̃  îyý 100 + 10 = 110 ~„þ„þ
öÇþešþœ = (110)2 = 12100 î†Å~„þ„þ
öÇþešþœ Ÿ“þ„þîûy î,!kþ

(12100 10000) 2100
100 21%

10000 100


   

22. (b) D C

A B8 cm

10 cm

 ABCD ¢y›hsþ!îû„þ = ABC + ACD

ABCéôé~îû xíÅ þ™!îû¢#›y

8 6 10 24
12 cm

2 2

 
  

 öÇþešþœ 12(12 10)(12 8)(12 6)     î†Åöì¢!›

12 2 4 6     î†Åöì¢!›

3 4 4 2 2 3       î†Åöì¢!› 3 × 4 × 2

= 24 î†Åöì¢!›
 ¢y›yhsþ!îûöì„þîû öÇþešþœ = 24 × 2 = 48 î†Åöì¢!›

Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 6  xöìQyîîû– 20242

23. (b)
1 11 1

48 8x x 1 4
3 81 3 (3 )

8 x
    

x 32 
 32 îŠéöìîû 81 =’ £öìîÐ

24. (d)
84 17

(35 50)% 45%
100 20

   

¢%“þîûy‚– xyëû ƒ ‹›y
20 : 3

3 unit = 450 1 unit = 150
 Öì¦þîû xyëû = (20 × 150) = 3000 Ýþy„þy

25. (c) ‹˜¢‚…Äy î,!kþ öþ™öìëûöìŠé  (4352 – 4000) = 352

Ÿ“þ„þîûy î,!kþ öþ™öìëûöìŠé
352

100% 8.8%
4000
  

¢%“þîûy‚

8

8.8

10

1.2 0.8

²ÌÙÀ›öì“þ–  5 unit = 4000
    1 unit = 800

 þ™%îû&¡ì ‹˜¢‚…Äy = (3 × 800) = 2400 ‹˜Ð
26. (c) (175 + 25) = 200 £œ þ™yŸ ˜Áºîû

²ÌÙÀ›öì“þ– 40% = 200

200
100% 100 500

40
  

 þ™îû#Çþyöì“þ ö›yÝþ ˜Áºîû £œ = 500
27. (b) ö‰þïîyF‰þy ö›yÝþ ‹œ •öìîû– [ 2, 24, 26 ç 48éôé~îû

œ.¢y.=.] = 48 × 13 = 624 !œÝþyîû
P ˜œ 24 !›!˜öìÝþ ¦þîû!“þ „þöìîû 624 !œÝþyîû

P ˜œ 1 !›!˜öìÝþ ¦þîû!“þ „þöìîû
624

26
24
  !œÝþyîû

Q ˜œ 26 !›!˜öìÝþ ¦þîû!“þ „þöìîû 624 !œÝþyîû

Q ˜œ 1 !›!˜öìÝþ ¦þîû!“þ „þöìîû
624

24
26
  !œÝþyîû

R ˜œ 1 !›!˜öìÝþ ¦þîû!“þ „þöìîû
624

13
48
  !œÝþyîû

!“þ˜!Ýþ ˜œ ~„þöìe !›!˜öìÝþ 1 ¦þîû!“þ „þöìîû
= (26 + 24 + 13) = 63 !œÝþyîû

ö‰þïîyF‰þyîû 1/3 x‚Ÿ 624
208

3
   !œÝþyîû „þîûöì“þ £öìîÐ

¢%“þîûy‚ 63 !œÝþyîû ¦þîû!“þ „þîûöì“þ 1 !›!˜öìÝþ ¢›ëû œyöì† 208
!œÝþyîû ¦þîû!“þ „þîûöì“þ

1 208
63

63


 208

189
19

19
3

63
 !›!˜ìÝþ ¢›ëû

28. (a) öÝþÆöì̃ îû †!“þöìî† = 36 !„þöìœy!›Ýþyîû/‡ ù̂Ýþy
5

36 10
18

  

!›Ýþyîû/ö¢öì„þuþ
öîûœ!îÊ‹ x!“þe«› „þîûöìœ öÝþÆöì̃ îû !˜öì‹îû ÷”öì‡ÅÄîû ¢öìD
!îÊöì‹îû ÷”öì‡ÅÄîû öëy† £ëû xíÅyê (120 + 360) !›Ýþyîû
= 480 !›Ýþyîû
¢%“þîûy‚– 10 !›Ýþyîû öëöì“þ öÝþÆöì̃ îû ¢›ëû œyöì† 1 ö¢öì„þuþ

1 !›Ýþyîû öëöì“þ öÝþÆöì̃ îû ¢›ëû œyöì†
1

10
 ö¢öì„þuþ

480 !›Ýþyîû öëöì“þ öÝþÆöì̃ îû ¢›ëû œyöì†
480

48
10
  ö¢öì„þuþ

 öÝþÆ̃ !Ýþîû 48 ö¢öì„þuþ ¢›ëû œy†öìîÐ

29. (c)
1 11 1

6 4 3 62 43 4, 2, 3, 5 4 , 2 , 3 , 5
4 6 2 34 , 2 , 3 , 5 256, 64, 9, 125 

öŠéyÝþ!Ýþ £œ 6 3

30. (d) ¢›ëû
2xy 2 10 15

12
x y 25

 
  


 ö¢

Së!” !îþ™îû#“þ !”„þ öíöì„þ !¦þ§¬ †!“þöì“þ xy¢y ~„þ£z ÷”öì‡ÅÄîû
”%!Ýþ öÝþÆ̃  ~„þ!Ýþ öþ™yÞÝþ/›y˜%¡ì/…¤%!Ýþöì„þ ëíye«öì› x !›Ýþyîû ç
y !›Ýþyîû x!“þe«› „þöìîû “þöìî “þyîûy ~öì„þ xþ™îûöì„þ x!“þe«›

„þîûöì“þ ¢›ëû œy†öìî
2xy

x y
31. (b) •!îû– A ˜œ ¦þîû!“þ „þöìîû 5 ‡ ù̂Ýþyëû B ˜œ xíÅyê öë!Ýþ !ŠéoÐ

A ˜œ ç B !›öìœ ¦þîû!“þ „þöìîû
20

3
 ‡ ù̂Ýþyëû

ö‰þïîyF‰þyëû ‹öìœîû þ™!îû›y’ = œ¢y= 5 ç
20

3
 ~îû

= 20 unit

A ˜œ 1 ‡ ù̂Ýþyëû ¦þîû!“þ „þöìîû
20

5
= 4 unit

(A + B) ˜œ 1 ‡ ù̂Ýþyëû ¦þîû!“þ „þöìîû
20
20
3

= 3 unit

¢%“þîûy‚ B ˜œ 1 ‡ ù̂Ýþyëû …y!œ „þöìîû (4 – 3) = 1 unit
 20 unit ‹œ …y!œ „þîûöì“þ B ˜öìœîû ¢›ëû œy†öìî (20
× 1) = 20 ‡ ù̂Ýþy

32. (d) ”%• ‹œ
4 : 3

20 : 15 7  35
1  5

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



3Achievers
!›×’ = 40 : 60

= 20 : 30 S2 !”öìëû ¦þy† „þöìîûV
‹œ ö›Ÿyöì“þ £öìî = 30 – 15 = 15L

33. (b) ›)œ•˜éôôôé
1 1 1

: :
4 3 2

         3 : 4 : 6

¢›ëûéôôôé 1 : 1 : 1

œ¦þÄy‚Ÿéôôôé 3 : 4 : 6

éRôé~îû œ¦þÄy‚Ÿ =
6

3900 1800
13
   Ýþy„þy

34. (a) •!îû e«ëû›)œÄ x% þ™!îû›y’ îy!vþüöìëû ö”çëûy £œÐ

10x20 x –10
100

   

90x
30

100


30 100 1
x 33 %

90 3


 

35. (a) •!îû– ›)œ•˜ = x, ¢%” éôô xy¢œ = 3x, ¢%” = (3x – 3)
= 2x

2x 100
r 40%

x 5


 



36. (c) 120×1
120

1
120

3
 

– 40

80

120
30
90

40
10
30

:
:

37. (a) Average velocity
100

10 km / h
10

 

12 km/h

10 km/h

2 3 (Time):

7 km/h

4 6:
5 unit       10h
1              2h

 ”)îûc = 4 × 7 = 28 !„þ!›Ð

38. (a) þ50 þ™ëû¢y = 0.5 Ýþy„þy
25 þ™ëû¢y = 0.25 Ýþy„þy

1 Ýþy„þy 0.5 Ýþy„þy 0.25 Ýþy„þy
˜yÁºyîû = 1 : 2 : 4

¦þÄyœ% = 1 1 1 = 3
3  393

1  131

1 Ýþy„þyîû ›%oyîû ¢‚…Äy = 1 × 131 = 131

2 Ýþy„þyîû ›%oyîû ¢‚…Äy = 2 × 131 = 262

3 Ýþy„þyîû ›%oyîû ¢‚…Äy = 4 × 131 = 524

ö›yÝþ ›%oyîû ¢‚…Äy           = 917
39. (c) x : y = 3 : 4

5x 2y 15 8 7

7x 2y 21 8 29

 
 

 
40. (a) e«ëû›)œÄ = 450 Ýþy„þy

20% œy¦þ „þîûöìœ !îe«ëû›)œÄ 450 120
540

100


   Ýþy„þy

10% !vþ¢„þyvþzrÝþ !”öìœ •yëÅÄ ›)œÄ £öìî
100

540 600
90

    Ýþy„þy

41. (c) Wither
42. (c) Brief
43. (b) Foretell
44. (b) Accept
45. (b) Admonish
46. (b) Reveal
47. (c) with
48. (c) went
49. (b) To be humiliated
50. (d) By practical experience
51. (a) Manifesto
52. (c) Achievement
53. (b) had already begun
54. (a) An important day
55. (d) on
56. (c) than
57. (a) went
58. (c) assent means permission.
59. (a) Woolen
60. (d) Succeed

61. (c) 3 3J M P  
3 3R U X  
3 3E H K  

 U Y B+ 4 + 3

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 6  xöìQyîîû– 20244

62. (c) þ12 – 28  28 – 12 = 16
14 – 82  82 – 14 = 68

þ 36 – 62  62 – 36 = 26
!„þlsþ 23 – 64  64 – 23 = 41

63. (b) îy!„þ=!œîû öÇþöìe ²Ìí›!Ýþîû myîûy þ™öìîûîûÝþy þ™!îû›yþ™ „þîûy £ëûÐ
64. (c) îy!„þ=!œ 3 myîûy !î¦þy‹ÄÐ

65. (c) 4,       6,      9,            ,
120
4

11
2

 11
2

 11
2

 11
2



1
13

2

66. (d) O = 16

  A = 2, B = 3, C = 4 ........ Y = 26, Z = 27
F O R  7 + 16 + 19 = 42
F R O N T  7 + 19 + 16 + 15 + 21 = 78

67. (c) ¢)öìëÅîû “þyþ™ öíöì„þ ›yíy î¤y‰þyöì“þ xy›îûy SÝ%þ!þ™V cap îÄî£yîû
„þ!îûÐ ‘cap’ ö„þ ‘trousers’ îœy £ëûÐ “þy£öìœ ¢)öìëÅîû “þyþ™
öíöì„þ ›yíy î¤y‰þyöì“þ xy›îûy trousers îÄî£yîû „þ!îûÐ

68. (b)

69. (a) Battalion

70. (a)

10km
2km

6km

71.  (b)

72.(b) !„þŠ%é vþy_«yîû ›!£œy £öì“þ þ™yöìîû– !„þŠ%é vþy_«yîû !ŸÇþ„þ £öì“þ
þ™yöìîû xyîyîû !„þŠ%é !ŸÇþ„þ ›!£œy £öì“þ þ™yöìîûÐ ¢%“þîûy‚

73. (b) 

74.(d)

~„þ£z¦þyöìî G    R    I     D

F     S    H    E    D

–1 +1 –1 +1

75. (b) þ™!îûÜñyîû xy„þyöìŸîû îû̂  S˜#œV blue, ‘blue’éôö„þ ‘sky’ þîœy
£ëûÐ “þy£öìœ þ™!îûÜñyîû xy„þyöìŸîû îû̂ skyÐ

76. (d) îy!„þ=!œ ö›ï!œ„þ ¢‚…ÄyÐ

77. (a)

78. (c)

79. (c)
D H L , P T X , B F J ,  N R V

–2–2–2

–2 –2 –2

80. (d) öë ¢›hßþ ›y¢ 31 !”öì̃  £ëû– ö¢=!œîû ²Ìí› î’Å=!œ þ™îûþ™îû
î¢yöì̃ y xyöìŠéÐ

January  March  May  July


December  October  August 
O  October

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————


